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(4 |1( 45) have been to two countries ).
e Ttis( one of the most popular ) things to do in Okinawa.
mi| A4 ( What do you think of ) the aquarium in Okinawa?
7 ( nothing is written about the food ),
2 to i choose (decide)
1) Plan A is better because I want to enjoy cycling and it will be fun for me to see the night view.
(22 58
sz | 3
) T will choose Plan B because I am interested in scuba diving and the aquarium in Okinawa.
(17 58
7 1) What subject did you enjoy ( the most )?
mi| 4 #51) Couid you give me an example?
Ly 51) How long will you stay there?
(13 &)
@2 | A 2 B 5
m 3 5 (AR RED
7 | She came to Japan 5 months ago.
(2| 4 |She likes Japanese and Korean pop music.
vy | They use English.
(19 £ ¥ | Which is easier, Japanese or Korean?
3
A4 | How many languages are spoken in your country?
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